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Java Script Joke: Gittin Kiddushin:

function gittinKiddushin() {

const array = ["Gittin", "B", 4, "Kiddushin"];
console.log(array);

array.pop("Kiddushin");
array.shift("Gittin");
array.unshift("Refuah");
array.push("Makkah")

console.log(array);

}

Execution log

10:43:08 AM

Notice

Execution started

10:43:08 AM

Info

[ 'Gittin', 'B', 4, 'Kiddushin' ]
10:43:08 AM

Info

[ 'Refuah', 'B', 4, 'Makkah' ]
10:43:09 AM

Notice

Execution completed



n”a

NIk QT

DREF B0 INSIESTS

DPXTINNT D°XIN

(7R Pr2) X702

(:X 12°3n) *v12 1217

(. 73n) DRI 12 1

(.2 o *n5Y1 ) *0°0 12 1D
(:X5 o YN P) Anen a1
(-T2 XNP) D
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| remember Rabbi Gross 9”¥7 quoted a medrash with the MW of PXunw” 7 and 12 "7 about
what is hashem giving us rain compared to (Rabbi Gross’s speech two years ago succos, | think)
therefore | want to say that there was a XIN named "1 ’1.

Many of the X2X and X2X somethings in 0"

(:T0 XA TUHN XIAX

(:3 17%°2) D23 12 MUK XX

(.1 M272) Prv1a Xax

(.P 0°5pw) 13m 12 °0P XaX

(VP MN2’) *X°0 12 °0P XIX

(.72 M2N)(.32 NPILN) PPPN XIX

(.p MnN2’) MIXY XaX

(.02 77¥°2) N33 12 DINY XAX

(.12 M2IN2) 0N XPX 2 DIXW XAX
(.20 MN) T7°% WX T XaX .10

(.7 0°ma1)(:¥ MA2)(.70 MN2) 3 Xax .11
(23 71°37) °X017 ]2 °0P KAX .12

(.12 M2712) °XN017 J2 0P XaX .13

(:X2 MP1uN) XINIX XIX .14

(.12 VD NPYNT) N XAX .15

(:X° 710 °NPY1T?) 29D "7 P12 XAX 7 .16
(.1 7110) 121 NI XAX " .17

(:7n MAW) 72°1 N7 XX 1 .18

(11 N”3unN) *70R NPT XAX " .19

(:¥ D9pWw) X112 XIX .20

LN dWNER
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Xax
(:72 M272) Xax "
(72 P©°1) XaX
(:r? M272) XaAX 12 XIX
(.31 NAW) (XIX X 27 °X)37]

Bwih R

The TN>N71 X121 mentions there were two *WX ’7’s but he doesn’t mention that there were two
XX 7’s, but | want to say that there were two XaX "7’s.

Here is the other *wX 7, by the way, since it is right here in P©’1 noonN:
(:0% P©23) >3 TAK WK AKX 0K XTI
And these are the words of the TN X12n:
MNP WX " INRI N0 YK Nt
The 2”731 M3 right there in 27> MIX writes ]1’53:'! 51”7 X TINY 12 71210 7L
Here is the X131 in 1210:

D77 XAW 7PIOWK 70K 1" 12102 P XU NPW 0P PRI 2102 Y10 K18 NR2OXK 091K 7'
(.12 71210) 121 X°INT N1 XOX X DK

The 11°21 says about that *wX ":

XIPXT2 X217 0P 2728 X Kil D W IRY 1Y XD X5 DXT NNIPA WK AT AKX
28 PYITR XIPKTD WX M 7911 X217 DY 012170 N2

Based on the X711 in P11 | want to ask is it possible that 1172717 *wX 1 saw *27 and that would
make him very very old at the time he was talking in learning with »2X in 7210, and who is
quoting WX "1 there in P1©3? It is X131 7, the one that °17 said should be w72 2w after he
passes away (:3P M12102). So | want to say that it is very likely that this >&& "1 saw *27. So instead
of saying that there were three WX "7’s | want to say there were two and the earlier one lived to
a very old age. It is also interesting to note that the one in 1’2’3 would have been in PX2” X,
and the one in 71210 might have been in 913, so if they were the same one then the TP WX
moved to 223, or he was still in Y7 yIX and he corresponded with »2X through letters.

Back to our subject: XaX "7;
| want to say there were two X2X "7's.
There was the earlier one who was a 7n%n of 7771 "1 and then went to DX K.

52 AP " IAKT OXIET XUIKD pOAY U Xp MAT AT 2277 PR RNwa Xp M XaK M L1
(:72 M272) 121 PP ARYY IXAY 71922 TNAXIY WU 1210 PRI pIxD D130 i

And then he went to PXw” yIX:
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*DD 72 XPIN N AP 9 PHOWK ONA? 2770 22 DIpNnT XN KPR MU X IR XAX %000 .2
(.72 71%°2) 121121 712 K1 X1

So | want to say there was a later one in the generation of "wX "1:
(.7 3uN) (72 PY23) WX D XIAX NP 0K
Now | want to say that *wX "1 had another XaX.

All of you 0’121 > 7PN out there will find this surprising. I'll repeat it to assure you that you
didn’t misread this.

“Now | want to say that *w’X "7 had another X2X.”

All of you 0’121 > 71PN are probably scratching your heads wondering what | am talking about.
Where else in all of 0" do we find that *wX "7 had another XaX?

The answer:
(:2° Tup TINA) RIPWKI XIX

Here the word “XaX” is translated as “Forest”.

Inspired By Beer

“Yo this is HipBoy .....Beer Made to Chill, Peace.” (spotify beer ad)

Some of the beer drinkers favorite XnJ’s:

(:u X)) PN AP L1
(.710 P21PR) XO2W P2 NPRT XN222 7080 XD DXnw .2

Why was beer created?

(.70 Pa1°n)
| think there was a city named X7°2.
Here are two 0°X711X that might have come from X7°2:

(12 79P TWIN) (T 7N) (XD PIuN) XA XY L1
(.12 PR (T2 PYA) AR PR .2
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Even 7O "1 who said (.1p D°1109) X12°w °NYPX K27 0’272 1NIX never-the-less you see he
said “0°172” and not “D°27 NUT Y4” as you see this distinction made in the X711 in P13
X TN I? 77 that “0°272” has a 771911 as opposed to “0°271 NUT Yu” which has no 7171977.

Yes. N inspiration can be easy to come by, if you use the right method you can get
Torah inspiration from anything.

Even Beer.

The Question of The w”w":

(.12 P1°3) 121 10" 121 WAwTRN 1130l

Q: How was the case of 27 X N 1 XK1 X172 17? If you say it was in 772 then why did 7”2 make
her swear, if she was going to have to pay for it anyways? Well, the one who says they made her pay for
it anyways is the &’ and the &’ says that this was 7725 1.

| am quoting here the words of the w”w:

PINT KT DXINETY Awp "X ,TRIWK 7"DXK1 Yarn N Rl X921 0w N2 X922 71 P mn arT unent”
"TIMX PWawn 7"

Why can’t we suggest the following answer to the &”w’s question? The 1112w was 7722 117 but it was
yon nwpin.

The reason is because the X113 says both 27 and PXInWw agree that IMX Puawn 7727 i, and both >”¥M
and 010’ say that this means in 7’2 there is Y2 NP1 and out of 7”21 there is not 211 NP1 so if you
say the story happened out of 7”21 then it has to be that it was without y211 Nw’pl.
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Ughhhhh So 7°nnn, | mean Cooooome Ooon....
A X011 of both 17 and YX1nWw:
(arary) 1

(2 Pwa) 2
(mphm) 3



